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To include a rolling pit — HADANAT 712 MINRY

Overview

X217 stated that the mws 7% of the 71wn comes to include a %3%ann7 M2; if a
person placed an obstacle in the 7"771 and it was sent rolling by the 27X 7237
(‘fnma *93m), and did damage, there is a 27 to pay. In some texts the X m3
asks (a similar question as was asked by the case of n™0R), if the 7323017 2
did damage while in motion then it is 13; it should be considered an 21X
P17 and no MW 7X is required to teach us the 211, >"wA deletes it from the
text; however N1901N maintains that it 1s the correct X077,

159 09) XDT D90IPN YD) NIN IND PP IR XPT 27N IN 2905 09901 Yoa
In all the texts it is written; ‘if the 73%an»7 72 damages while it is
moving, it is his force’>. However "1 in his explanation maintains that

it should not be written in the text -
— %9973 1992NNY DN 22 Y 1997 PN (3,19 97 NINNA IIPY 19999NT DIVN NNYVI

And the reason’ why *"wn deletes this from the text is because the X3
states later in 1°177 P79 that it is not customary for people to concentrate

on the roads”. Therefore the people who kicked this 937an»7 712 cannot be held liable
as if they were the “p i o7x.

— POMWN DTN BYVN 139NY PN ) NYPNN YY)

And we can neither hold the owner of this obstacle liable as an P17 27X
—IUN M1 NNYN NI BYNT DIVN NON

But rather we can only hold him liable for a different reason; since the
rolling of his M2 by others may be considered similar to a usual wind®,

and therefore the 23730777 712 can be considered as if it is his fire. However it
cannot be considered 112. This is the reason "w9 is not "112' 0. It is not the 1> of the
people pushing it, since 0°3772 1112072 X"12 YW 1977 PR and it is not the 13 of the M2 H¥3;
it can only be considered (at most) as his Twx.

mooin disagrees with >"wA:
— 99 92av2 1pNMY PN

And this phrase of 'R 1 "1 91k Xp7 >772 X' should not be deleted on
account of this difficulty, that it is 2°2772 12077 X"12 %W 1977 TX -

' Some commentaries maintain that M5OI was not 7122 *23M' 0.

* This would be referring to the person who kicked the 323027 M2 and caused it to do damage. If it is 1,
then he is 2°°17 as an 1777 7R and there is no need for the MW 7%.

? This reason is not mentioned in our *"w"; it seems to be Moo understanding of >"wA.

* This reasoning is used there to explain that if a person accidently broke someone’s jug while walking in a
1", he is Mo from paying for the jug. The same would seemingly apply here.

> That fact that an 07X is 2219 797 even by an o1, does not preclude that for certain 2°01X an 27X is 115,
% One would expect that if an object is placed in the 7", it will be kicked about by the 5721 27X *23.

7 See “Thinking it over’ # 1.
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— %9V 1992010 1997 1P Y PINA 79 D 15D XD 2715 )Ivdy
For it is customary for people to concentrate properly, concerning that
they should not walk so forcefully that they should fling objects and

cause damage through this *>3%3mam 2 -
— NYPNN Yya XYY 9N ADIND 29NN NI IND 7299 Y97

And therefore the X7 correctly asks that if the 3% nn7 712 did damage
while it was in motion then indeed it is M3, and therefore the ®3%a% should
be totally liable; but the owner of the obstacle should not’ be liable.'

mooIn anticipates a difficulty that the 7907 %2 should be Mwo:

— (3,3 970pY) 221D WD 10N NN DVIYW 2D %2)D7 2) DY GN)
And even though, concerning the case in the 7w»n where a dog took a
smoldering biscuit and went to a stack of grain, etc. The dog set the v>73 on
fire through the burning coal attached to the biscuit. The 71wn there rules what is the
liability of the dog’s owner.

— AYPNN HYA NINY 13 NYNIN Y2 299199 (39 97) NN 77999
And the X9%3 asks that the owner of the coal should also be liable, for he
is the owner of the damaging agent''. Similarly here too, why does Mao1n maintain
that only the 9373 is 271; according to that X3 the 7907 %2 should also be 27!

mpoIn answers that the reason we hold the n%naT 9v2 also liable —
— NI NYT 92 INY 2957 0IVUN 199N

That is because the dog has no intelligence; therefore it only fitting that the 5v2
79PN share in the liability - "
— NV YT 92 CYphpnn XN YaN

However here the damager (the kicker) has intelligence; he knows what he
is doing, therefore there is no reason to hold the 7%pnn %¥2 liable.

mooIn will now prove his point that if the actual 11 is a nv7 93, then the 7%>nn %¥1 is
mus:
—19%30 MYV 99V NN N2 YN P91 ONT y10

You know that this is true; for if someone lit a fire and another person
came and burnt a third person’s n¥ in this fire -

¥ People may not be that careful when they walk that they should not trod on objects (as the X723 states in
i), however they should be careful enough when they walk not to kick objects that will cause damage.
% If the 719pn71 v2 would be (partially) liable then there would be no point in saying 17 112. Even though the
9393 is 21 for 112, but the 7907 Hv2 can be 21 only through a mw: 7¥. See MK *"221 79P NIX 1" W70
anp. See n"nR footnote # 49 (P117 An>»wy nbnn); A"yXY. [MDoIN maintained that the 79PN Hvais a wRT 77910
according to *"w1 where the 93737 is 2. According to n9oIN that the 9373 is 21 (because people do not
fling stones) it may perhaps not be considered a wx7 7721n.]

' We must therefore conclude that the 939371 112 did not do any damage while it was moving, for then it
would be 1> and the %393 would be 2711 as an P 177 078, and no w1 78 would be required. Therefore, we
must say that the 712 did damage after it came to a rest, and someone tripped on it.

" The X3 there answers that the NonxT v2 guarded the n2ma, therefore he is 7wd.

"2 The marginal note amends this to read 23737.
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— 19119 19%2N MY N7 INN NI 913 990 N
Or if someone dug a pit and another person came and pushed a third

person’s ox into the pit -
= YNN Y2 IN 2N HYa 29N5HYW N0 PN

It is illogical that the owner of the pit or the owner of the fire should be
liable". Here too, if the 2323 is a 77 72 then the M7 9v2 is s

moon was previously discussing the case where the stone was kicked by people who are
7v7 °12. Now Mooin discuses the case where the stone was kicked by animals:
— NYPNN YY) NNNAN Hya 0NNIY 11NN FDINYT 7Na 721N ON NNNA Y992 YIvInn

And if it was Kicked by the m2m2 s, then if it caused damage while in
motion, then both the owner of the 172 and the owner of the 77>pn will
be held liable".

mooIn anticipates a difficulty: y
— 925 19NTY DN MY (3,097 NI9D PI93 119PD 1999NT XY

And that which the X713 states later in 799577 99, concerning an ox and a

person who pushed someone into a pit, that -
— M2 HY2IDON YIUNT PN 19D PP PIvh

Concerning payment for damages all are liable (the 7% and the Wi *9v2

712m). This indicates that even the =927 %¥2 is '"2n. This would contradict what
mooIN previously maintained that if a 7v7 92 caused the damage then the 79PN %v1 is
Tv5. Here too since the o7& pushed him into the M3, the 112771 %¥2 should be Mw>.

mooIn responds:
— DINN 15 131 HY2 29N DY NN PRT 11997 N3N XY DTN 29917 90 T4

It will be necessary to say that there we are discussing a case where the
person caused the damage unintentionally, and since it was completely
unintentional, then the =127 %2 is liable, as is the person who pushed.'®

mMooIN anticipates an additional necessary qualification:

" The 770 held the wx:1 5v21 1271 ¥2 liable for acts that occurred naturally through their negligence; not
for damages that were caused by the active intervention of 7¥7 *12. See 19p (— 9P) 'MK 1" w171,
"It is possible to differentiate between the cases that Mmaon brings, where the person did the damage
consciously and the case of 23731 where the kick was not premeditated. Nevertheless, once it is established
that by an p>1a7 07X the 72PN HY2 is 7wy, it should be applied universally (whenever the p>ma is negligent).
' The smnan va will pay one fourth (since it is N117x [the 71727 9¥2 is responsible at most for half the
damage] and MM pays a P11 °xn) and the 72pn7 2v2 will pay either three fourths or one half depending on
the nP7nn between the (X,21 72P2) 13 ' 200, The X"wamn asks that 937 (or N117Y) is 21 only in the M
P1°17 and the 7%pnn ¥a (who is 2°°1 as a 27 77210) is only 1"7712; how can they both be 2. He answers
that it was TIRT R"WI722 @Y ,"02 AP 1"a02 rna. See ‘Thinking it over’ # 2.
' The xm3 there reads as follows:  *»T) 0™M27 AYIR PV P20 1210 PRI PIU% ;7127 1DATY DR MW K27 MK
191 IO 2T QTR 20 MW T2 YW 2OWHW 910 ]’J!f? , 0D 7121 MW 2°°1 27X m
' See “Thinking it over’ # 3.
" If it is done unintentionally then it is similar as if it was done by an animal; where n2oIn previously cited
that the 72pn77 Yv2 shares in the liability. See ‘Thinking it over’ # 4.
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— 29N DN T M7 D927 797 1939 (ow) 137IINT XM
And that which the X7»3 states there, that concerning the ‘four things'”

and the payment for the aborted fetuses; only the man is 2%7; but not the
27 YA M YA -
— MY 959 w8 291 13990 ©9a7 71 9NN

These 25927 '7 refer to %121 29X P11 and naw -
— (3,99 97 1pY) JAINNA 9INTH 1299 1Y 2N PN HVIia Yan

However the person is not liable for n212 unless there is intent, as the

7awn states in 2T P79, MooIN has already inferred that the cases there (in 77577 p79)
are discussing a situation where the 27X had no intent to damage (that is why the 11277 Y¥2
1s 2»1). If there is no intent there is no N2, therefore we must conclude that the o°727 'Y
are to the exclusion of nva -

— P 2YVUN KD ONNYT DYDY D927 AYAIND "N XY

And these 0°027 'T mentioned there, are not like the 2%92% 'T mentioned

previously21 in our X 3; for in our X723 we do not include 11 in the o127 '7,
however there in 717577 P72 we do not include N2 in the 0°727 '7.

Mmoo anticipates one final clarificatign: 2
— 29N NV 12y HY DIVYHYI 9919 PIYY (3,3 1mpY) TINT NN

And that which the X723 states (there in 77977 79) concerning 9912 and the
thirty 2°9pw payable to the owner of an *1v1> 72y, that (only) the owner of

the ox IS 2997; not the o7X or the 71277 Hva -
— DINT NOIDYT 2D NYT 2) Y N N13N22 NPIT 139NT Y 98

It is necessary to say that this is only in a case where the ox gored with
intent; even though it will turn out that the case where the ox (alone) is

liable is not similar to the case(s) where the person is liable. The ox gored
7122 and the person damaged 71122 X9w. The reason we are required to assume that the
ox gored 711122 is because if -

— a2y YV DYVHYI 9999 NI NINHa NoYaY
it were without 771112, there is no 251> payment or thirty o°%pw for the
killing of the 72y -

HNM TP 7Y 7T DIV Y 2NDIVAa INTS
as it is taught in the end of " '7 maw 2w 0.

' When a person wounds another person he is liable for five types of payments; n212 naw "19*1 7wx pr1. The

X713 there just stated that concerning 1°p°11 all three (278 Wi Hv2 ,1127 Hv2) are liable. However,

concerning 0127 "7 and M7 "7 only the a7 is 2. Seemingly the 0°7127 '7 would be referring to all the

payments except for 11, which was mentioned in the previous case. There is however a difficulty with that

assumption as Ms0IN continues to explain.

0 Seemingly the 121 W also have to pay for 711 (as mentioned previously 1°2°°1 0913 113 Pav7). The Xna

grllay mean that only the o7X is 217 for all the 2727 '7 (the 7121 W are only 217 for one of them [the P11]).
2,7

2 If a menm 79mn w kills a person the 7w HY3 is 271 to pay 191 (the value of either the P or the pr3).

# If a 7yma M kills an *1v10 729, the w1 Y¥2 pays thirty 2°9pw to the 177% of the 72v. In either case the ox

is stoned to death.

* There is 0w 1912 only when there is 79°p0; there is 77°70 only when there is intent.
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Summary
nIDOIN 1s "D 1% PR M2IR RpPT 772 OX' 073, The 93731 is considered a ywio,

for people should be careful not to fling items when they walk. A damage
that was caused jointly by a 7%pnn %v2 and another agent depends; if the
damage was caused by a 1v7 73, the 79PN Hva is Mwo (if the P was a
yw0); however if it was done by an animal or by an 595 711902 XW 07X then
the 7%pnn Hva is liable as well.

Thinking it over

1. Mmoo (in explaining *"wA) states that for the n%pni ¥, the H3%anna M2
would be considered WX, if it was p»7n while in motion®. If so, then
seemingly, >"w" can also be 071 that "W 117 *pmp "91RT 772 '

2. The X"w7an maintains® that the mpn ¥2 is M2 own» 2»n. Seemingly
mooIn said previously that the 75pna Yy is wx own 20; and WK is 270
1"772. What is the s'X"w7m» question?!®

3. Mmoo asks concerning 2% 1BATY QXY MW why the 127 Hva is 20 (since
we maintain that by a 7¥7 92 who is >, the 79pna ¥2 is Mw»).”° Why did
not Moo1N also ask why the MW Yyais 221?21 Would the mwi %2 be 27n?

4. It would seem that in the case of *21XpPT 772 P°I1 QTR 9372 A23nA0 3,
where the 93937 07X alone is 2°°1, the 3% 7 7R would be considered a
yv19; he is negligent for not taking a precaution not to fling the a%pn.
However it cannot be considered as a premeditated act of »>1:7% 1na2. In the
case of M2a% 1BATW 07X MW where the 177 is that P21 1213 (including the Hva
M27), the 07X was not 711102 172 (as MOOIN states); however it is considered
a 7vws not an 01X (otherwise he would not be 2°727 '72 2°M11; only for
3511). Why by the 93%an»a M2 is the Mwd 72pni »¥a and by 07w MW 07X
M3Y is the 21 79pna Sy

2 See footnotes # 6 & 7.

%6 See XY MIX 72701 71"AK.

7 See footnote # 15.

2 See footnote # 6.

¥ See 11"nX footnote # 62 and (71) 3 MK 7"20.

39 See Footnote # 17.

3 See n"m.

32 See 7"nx.

3 See (71xn APRWY 17) X,13 [(M0D 2127 7 Pav) 2,00] 1p°.
3* See mop MIX 1" WL
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